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Run 6093 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entries: 9144
Mean: 15,6662 «/- 0UDDED
St Dhey: 0.5684 4 00042

=== Lager OFF ---
Enlries: 7502
Mean: 38091 «- 0.0034
Sid Dhey: 02958 - 000249
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Run 6093 quartetwise, Diffs)
=== Laser O -—
Eniries: 9144

Mean: -0.7651 «/- DLODST
Sid Dery: 0.5449 /- 00040

=== Laser OFF ---
Eniries: 7502
Mean: 00038 +- 0.0047
Sid Drey: 04045 &~ 000X

Run 60393 quartetwise, Asyms{)

=== Laser ON -—
Eniries: 9144
Mean: 316162 +/- 0.2342
Sid Dhey: 223981 40~ L1665

=== Laser OFF ---
Eniries: 7502
Mean: 01679 «- 0.192)
Sid Dev: 166270 4/~ 01367
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Run 6093 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 9144
Mean: 16,4363 /- DU00E2
Sid Dhev: 0.5934 & 00044

=== Laser OFF -=-
Entries: THO2
Mean: 38E5T 4/~ L0234

Std Dev: 02973 o 0.0024
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Run 6093 quartetwize, Sums0
— === Laser O -—-
— Entries: 9144
— Mean: 32,1015 - 00107
— Std Dev: 1.0276 &= 0.0076
:— === Laser OFF -—-
— Entries: THO2
— Mean: 7.7744 +/- 0.0050
— Std Dev: 04337 - 0.0035
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Run 6093 quartetwise, PosHelAccd

— Lasar O —

Erlnea: 2124

Magn: AT193007. 7255 +- 1EE8 LS
=5 Dwre: TETE4E]D 26804 &1 1TES7 1296

— Lassar OFF —
Erlne: VAL

Masn: SEEIE1E 2100 « - 4F9E21E

S Dwre: S IE 236 +- 121332
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Run 6093 quartatwise, Diffsd
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Run 6093 quartetwise, Asyms4

=== Laser ON -—
Eniries: 9144
Mean: 319412 +/- 0. 179
Sid D 171702 &~ L1270

=== Laser OFF ---
Eniries: 7502
Mean: 00331 +- 0.0938
Sid Dhey: B.1245 -~ 00653
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Run 6023 quartetwise, Asyms LISbg1
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=== Laser O -—
Entries: 9144
Mean: 00030 + - 0.0058
Sid Dhey: 0.5535 - 00041

=== Lager OFF ---
Enlries: 7502
Mean: 00005 + - 0.065
Sid Dhey: 0.5584 &~ 00046
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Run 6093 quartetwize, Asyms DSbg1

alf flo.
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=== Laser O -—
Eniries: 9144
Mean: 00001 «- 0.0008
Sid Dey: 0L07IE - D.0O0D5

=== Laser OFF ---
Eniries: 7502
Mean: -0.000% «/- 0L000S
Sid Dey: 0L073E - 00006

Run 6093 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Eniries: 9144
Mean: -0.0027 < DLOO2E
Sid Dhey: 002434 -~ 00078

=== Laser OFF ---
Eniries: 7502
Mean: 00008 +- 0.0:032
Sid Dey: 02748 - 00022
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Run 6093 quartetwize, Asyms USbg2

=== Laser O -—-
Entries: 9144
Mean: L0005 «/- 0.0035
Sid Dev: 03726 & 00020

=== Lager OFF ---
Eniries: 7502
Mean: 00036 +- 0.0043
Sid Dev: 03592 - 00030
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Run 6093 quartetwize, Asyms DShg2
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=== Laser O -—-
Eniries: 9144
Mean: -0.0002 «- 0000T
Sid Dheyv: 0L0GE0 - 00005

== Laser OFF ---
Eniries: 7502
Mean: 00009 +- 0.0008
Sid Dev: 00GE5 - 0.0006

Run 6093 quartetwise, Asyms Vert Finger

=== Laser O -—-
Eniries: 9144
Mean: -0.0062 «- 00022
Sid Dev: 0.148 &~ 00016

== Laser OFF ---
Eniries: 7502
Mean: 00020 +- 0.0025
Sid Dhev: 02528 - 0.0021
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